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@, o G ol @@I‘SJ@ drlg g9 e gaIgaca @
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SECTION—A

( Botany )

GROUP—A

@—aQRQUG!

1. Fill in the blanks selecting the appropriate

alternatives given under each bit : 1x5=5

gesie 2°EeQ  Q[AUIAIRAS  Aegee  auQ
QAYYTY QT FAYIe 9d ! :

(a) The number of microsporangia of a

typical angiospermic anther is

ZIQERIRT QVCQ AL} AQICEAT1ER
2RI QQ 6QAQAUIRT QA°HYI 6XQAR |

(i) 1
(i) 4
(iii) 6
(iv) 8
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(b)

(c)

/348-A

Out of seven pairs of contrasting
characters of pea plant used by Mendel,

had dominant green and recessive
yellow.

6AEAME dAFEERA F16'Q SR dICedIR|

Q@  AuQ 6Q QALY gVM G
LRRAIQ AKXV QAN |

(i) flower colour

dY Qer

(i) pod colour
a7 Qer

(iti) seed colour

Qe Qer

(iv) stem colour
@lEd Qal

The position of additional OH group in
ribose sugar of RNA is

21Q. 9R. 9.Q QAUACIIS 9QAUEK AR 2ATQQ
OH g9Q gIe 62@8 __ |

(i) 2

(i) 3’

(iii) 4’

(iv) 5
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(d) The product of Lactobacillus that
coagulates milk protein i1s afan _____.
QY 69ITAQ AICEHS QQASI MIEYEYIN] @
QAR 62QR @ _ |

(1) salt
mQél
(ii) acid
aed
(iit) base
QAR
(iv) alkali
IR

(e) The capacity of any cell or explant to
generate a whole plant is called

9@ g4l @8e 9& QAQIaIR Ve
caedlad 9@ 619 QU §de U NI
QeIQad|
(i) unipotency
RNl
(i) multipotency
Alrialolay
(iii) totipotency
geeaaT
(iv) 1mpotency
2091
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2. Correct the statement of each bit, if necessary,
by changing the underlined word(s) only : 1x5=5
2IQ94Q P6R, J6OIQ UEQ 6QQR QNSRS 4Q

QARNR UG QCARIR XA -

(a) The nutritive layer of developing
microsporangium is endothecium.

QERAIR qY-6QgUIMA 6019RgQ
2RI 226G https://www.odishaboard.com

(b) Primary endosperm nucleus is produced
by double fertilization.

gIiafie ga6aId Qig {YAAIAR QIal Q¥ 29I

() The first antibiotic discovered by
Alexander Fleming is chloromycetin.

ZI6RQRI8IQ 6LAFST QA A[/FYS gaUN
JoIal 628 6QI6QUNNECATR

(d) Vertical distribution of different species
of plants occupying different levels in a
forest is called concentration.

STNEQ AINAKICS TR LG QAR
QAR AR gacq QTRIQ 6RLINAE QI

(e) The process of accumulation of a dark-
coloured amorphous substance in soil is
called mineralization.

RAKIEA 9e gRIQ QRATYY AR
aQIZia e glaIg e QRIAII
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( 6 )

GROUP—B

S—QQUG
3. Write notes on the following, each with 2 to 3
important points : 2x5=10
geoiea 95 g N ggs g @€iR, fgRYea

Qs 6xd :
(@) Dicotyledonous embryo / QQI210 @8
Or/ @8
Parthenocarpic fruit / AYYS IR
(b) Polygenic inheritance / QE&RFIG QAAG
Or/ @R
Linkage / €&fae
(c) Nucleosome /[ Q‘IQGGQIQ
Or/ @8
Translocation / QIfISQ€
(d) Fermenter /| JQ&¢189
Or/ @R
BOD / @.6.@
(e) Biogas / 68Qa4ld
Or/ @R
Biofertilizer / 6594IQ
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( 7 )

4. Differentiate between the following pairs with

2 to 3 important points : 2Y2x2=5
QANYG 6QAIFIQ 98 Q AT IS g9 ARG geae
@éla .

(a) Somaclones and Somatic hybrids
QLS geqal 8 QPe A8
Or/ @8
Human insulin and Genetically engineered
insulin
AIRY AAGMR B PP gEAIANR QFYAR
(b) Microinjection and Electroporation
IRACFIN°CTRLAT @ QAEMRQEGICAICAAR
Or/ @R
Biopiracy and Patent
QABAIRERD B 60609

GRrROUP—C
—aRAUQ

Answer the following questions (each within 200
words) : ox2=10

QANGE g9 @9a (g664YeT 9008 9 q6eQ Qa) -

S. Explain Griffith experiment for elucidating
transformation principle.

gQaa eqe WIRA Ak FFe asmeqg
ISy
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Or/ @Al
Explain purity of gametes.
HYe gaclg QUIsl @l

6. Describe energy flow in a grassland
ecosystem.

QEgd alQ°giea 43 gele ¢ Qql
Or/ @R
Give an account of population interaction.

Q1A VIALER QAR 9@ IAE Q|
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